4 16,
101 ( ) o
() C1801-C1802 L 17
(1) (2) @
__________ 4 18 _ _
©) () °C
®
@) 60 4 2 19,
10 heat factor, SHF)
® 2B ® 0.25
@ 4 20.
® () ® 15%
© 1 21.
10 ® LPM
4 22 1HP
@
) @ 860keal /h
1 60 1 2 23.GWP
3 1 ® CO
@ @ © @ 3 24,
3 2 DP
® @ ® @ ® DB > WB > DP
2 3. R-22 R-134a 4 25,
® @ ® @ @ 14.7 ps
3 4 2 26.
0) @) ©) @ ® 101.325 kPa
3 27.
3 5.
0 @ @
©) @ 3 28
P
1 6. COP ® 0.6219—
® @ ® @ P,
1 7 3 29
) @ ® ® 26°C  60%RH
4 8 @ 26°C
® R-600a @ R-744 ® R-717 @ R-134a 4 30,
3 9 ® kPa
® @ 4 31
©) @ ®
4 10. 5K ®
@ @ ® ® 4 32
1 11 ®
® @ ®
©) @ 4 33,
2 12.
® @ ® @ ®
2 13. ®
® @ ® @ 2 34
_ ® 25~26°C
® @ ® @ 2 35
®
3 15.
® @ ® @

@ 0.75

@ 45%
@ CFM

@ 8ookeal /h

@ CO,

@ DB<WB<DP

45°C

75kW

® 125
0.15

® 75%

® GPM
® 746kcal/h

® SO,

® DB =WB =DP

® 101.325 kPa ® 760 mmHg
193.325 kPa
© 294.65 kPa ® 92 kPa
@) ®
P Pa
P P
@ 0.6219—Y ® X
LR Ps
30 m¥min 270 m¥min
® 26.5°C ® 27°C
@ psi ®in. Hg
110/220V
@
W 2 @ 0
@
@
110V
@)
@
© 26~28°C ® 28~30°C
@) ®

25kW

30°C 325

(sensible

@ 1.75

@ 85%

@ FPM
@ 642keal /h

@ NO
DB WwB

@ DB WB# DP
@ 1kg
@ 0 kPa

@

@ 0.6219i

S
36°C 80%RH
@ 275°C

@ Nt/m?

(1/2)

135v

@ 24~26°C

@



3 36. 24V 200
® 0.50A, 28.8W @ 0.83A, 1.20W ® 1.20A, 28.8W
2 37. ? L lp
Ol Iy @1 +3I, @1l 3l
3 38. Y
®0 @ ® 0
1 30 (kw) (kVAR)
0 )
® @
4 40.
0 )
©) @
2 41, 110 V, 60Hz, 1/2 hp
(kWh)
® 0.186 @ 0.233 ® 0.250
3 42 Vs
V. Ve
1
® 2pfl= @ Vg=V. ® Vg=V,
pT1, 20 f.C R= Vs R= VL
3 43 D
® 2 o) ) 3 o) ® 30
3 2
3 44 20W 2mH 0.2nF
0 fo=5.19%kHz @ Q=10 ® BW = 1592Hz
1 45 45 t<0 t=0 1 2
@ 20e v
@ Zoe— O.OSIV
® 2Ov
t+1 20V
@ 20c0s(0.05t) V
4 46, Ci=1nF C,=2nF 60
® 180 @ 90 ® 0.004
® 8e? @ 2646
® 2%+ 6 @ 26%+6
4 48, 48 a b Vin Rin
O V=8V Rp=9W @ V=9V Rpy=7.5W
©) Vth: 8Vv Rth: 2.5W @ Vth: Qv Rth: 2.5W
3 49 20 30° D 220V
® 1572 @ 3630 ® 6287
2 50. 50
®5 @6 ® 10

@ 1.20A, 20.0W
ON I Wt

O]

0.8

@ 0.373

@VL"'VC:O

® 60

@

v. t>0

[a—

0.75 30

20

f; = 6403Hz

5kW  §

—10pF

@ 0.0012

45

6H

@ 25148

U)

3 51
® 440

1 52
®55

3 53
O]

®
2 54.
@ k

3 55
O]

1 56

P=

21 220 V
@ 220 ® 110 ® 55
100
@11 ® 22 ® 88
@
®
k
@41- K o |- K 1
1+k? 1+k
1=20+j 40 V=100+j50
2000 W @ Q=-5000VAR ® S=5000VA ® PF=0.9
4+j3(W) 16D0 V z,

® Z,=4-j3W Pracl6 W @ Z,=4+3W Pup=16 W @ Z=4-j3W Prp=8W @ Z,=4+{3W Ppp=8 W

4 57.
0

3 58.
2Q,
1

4 59
® 0.25

Q2

® 10.6 W

@

Q Q

@2

100
@ 0.5

0.003
@ 10W

30.7 m7hr

CcoP

f(t) T

©
®4
L, 200
®2
20°C
®9.8W
10

10W

(demand response control)

40 KW
kW) 4
2
30°C  35°C
Rs Vs
RL
Fav FITTB
Far 5
Fome 5

®

40°C
@®94W

10

12°C

(mihr) 4

7°C



